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aadl cardboard triangle will balance on the end of a pencil if the pencil is placed on a

* particular point on the triangle. This point is call the MEDIAN OF A TRIANGLE. The
median of a triangle is the segment from a vertex to the midpoint of the opposite side.
The point where all three medians intersect is called the CENTROID. This will be the

balancing point of the triangle.

Examples of Medians: _ _ Example of Centroid:
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Ex. 2) NC is the median of AABC. Find xif NA = 4x - 1and NB = 3x + 2.
A Y ~ NR
A N p\ - N (_)
s H¥X-l = 3x+2
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Ex. 3) RK is the median of AIJK. Find xif JI = x — 2and Rl = x — 7
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Intersection of Medians of a Triangle

Worde The medians of a triangle intersect at

the centroid, a point that is two thirds
of the distance from each vertex to the
midpoint of the opposite side.

Symbols If Pis the centroid of AABC, then
AP =2AD, BP = 2BF, and CP = 2cE.
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Ex. 4) Q is the centroid of ARST. If SQ = 8, find QW and WS.

SQ = EZ— (sw)  SW=SQ+ QW

g:%\,‘m 12 = ¥+ QW
(1a=ws) [4=Qn]
Ex. 5) If P is the centroid of AMNL and QN = 21in, find NP and PQ.
N N :—%NQ Q N = NP+PQ
NP = (20 a\ = +PQ
; L YNP =4 lrﬂ @L
M

Ex. 6) If D is the centroid of AABC and ED =18 ft, find DC and EC.

CD = £ EC DC = £ (54)
ED = % (EO) |pC = 3l
1§ = 3EC
(54 $t - Ecl

Ex. 7) If Z is the centroid of AHIJ where JR = 5x + 4 and ZR = 2x, find JZ.

) ZR = 3R IR= 5(4)+Y4 =aH
Ax = F(5x+4)  ZR=2(4) =¥
K { 2% = x+y JR =32 +2ZR
. . S —'5)(..,% X =4 &q:d2,+8

[0z =T0]




